BE  ARSEE (XD TAEEEMRABR LOHRES IXEHRTE
PR | KBS
40,300,000 33,250,000
BEA EHE
96.50 99.26%
Bi | ERES | oo | TEAM | RERG | KESG [(HBERs| REEE | &6 | IHRE| BR | Toft | BEEE | B8
100.0 85.00 80.00 6.0 1.0 0.5 0.5 1.0 1.0 1.0 1.0 1.0 1.0 1.0
% & % paE | TR wamms |ea | SO0 | TERM | RERG | SENG [MBEGN| BEEE | EE | TERE| AR | tof | BEEm | @kes | B4
1[Il 2 =t 40,000,000 40,000,000 96.50 85.00 80.00 6.0 1.0 0.5 0.5 1.0 1.0 1.0 0.0 0.0 0.5 0.0 EHL
2|4t JERE 40,300,000 40,300,000 94.4 84.37 80.00 6.0 1.0 0.5 0.5 0.0 1.0 0.0 0.0 0.0 0.0 1.0




